@ 3°

202 =
35 -
(32)2

=3




2. FH2=3vx[ A |o] gr-& F5fed et

=
H =

>
|> pal= 9

od =

3412 = 3% x 32

[ ]=09




3. 343" 435 ] YERH?

©3x+1 @ 33x @ 27x @ 3x+2 @ 3x+3

3x 3% = 3!




4. 545+ 5+ 5" + 52 7+S] YERHE?

©5x+1 @ 55x @ 25% @ 5x+2 @ 5x+3

B =Bt




=AZ 2, 16°S AE ©l-§5te] HYehH?

@ 4 @2 o @ o

166 = (42)6 = 412 = (43)% = A% o]r},







@ 124° = (=3xy2) x (—3)2
1
= 12x° X <—3x 2) x y8 = —4xty?
4 2\ 2 4 2
Tro () = o=y
y y y X

3 3
b
X (ab®)? x a* = — x a*b® x a® = ab’
a

8
0 ('x (2 = ()+(2) =swams




8. 3Ix32=7200]1122x43+8=2 A, x+y ] FS Folofet.

o7 @ 8 3®)9 @ 10 ® 11

Lx+y=9




9. 3% 4 32 4 3208 7hds| YERE?

@ 3x+1 @ 33x @ 27x @32x+1 @ 33x+1

3 X 32x — 32x+1




5% + 54 =25 5+ 50 452 450 4 50 =

@® -4 @ -2 @0

50 A, a-b o 27

@ 2

® 4

B

5% + 5% = 5574 = 5°
5—a=2 .a=3
5X5b:54,5b+1:54
b+1=4 ..b=3
a=3,b=3
ca-b=0




8%
A=273, B=3"1<d §—§—A, Bl

4 4
0 Wy 0T,

4609 4610 ,
@ 7 A ® 7 A

B

A=2"3=2":80|HZ 2% =84

B
B=3" =3 x30|m2 3" = o
8" (2x)3 (8A)3

-{37- o

9v — (3%)2 (E
3

32 x 29 x A3
=

4608A3
=05




12.

a=3" A 81" & a of T2

el 2 "2 Yerd

a? & ”
®3 ®§ @

@

wl

~&B

81

a:3x+1’a:3_3x73x:g’

81 = 3ty =3t = (4)' = &




13. 32=A 4 270 & A ] AFAFLE Yetdlofet,

>
> ®™et: A

2762 (3%)° = 318 = (32)° = A%°]r}.




14. 20 x 512 24 o] Aok, n 9] ghe Fatefat,

[ 2
> HE: 13

od =

2x5=100]B=
5% x 210 % 510 — 54 5 1010 = 625 x 1010
whatA 13 242] o] 240l




215 % 1530
15. 5B 2 a2 9] Frolt}, o] wf, a® + a + 1 9] S Fotoiet

Ch "
H =

[ 2
> ™. 273

915 5 330 5 530
330 % 515
a=16 a4+ a+1=273

=215 x 515 = 1015 o]BL2




16. a=45b=5045A 0 axb = nte] o Lol o] o, n g
W& ool

> E.

> Fe 1

45(510 + 5) = 210 x 510 1 210 x 5 = (2 x 5)10 + (2 x 5) x 29
webA n 2 11 A o] AAgeolnt,




17, 23x57x 20 x 55 -2 n 2e]o] A@olet. n o] e Fohut?

@9 @ 10 ® 11 @12 ® 13

~&B

23 x 57 x 26 x 5° = 29 x 512
=29 %59 x 53
=109 x 125

webA] 12 42 o] Seolct.




212 x 513 =212 x 512 x 5 = (2x 5)12 x5
=102 x5

a4 1372 o] Seo]tt.




o2 A& WSk a, b ol tiste] 2a - 36 O 27 (Hon 2

29 %42 -8 =25
(_1)n+2 % (_1)n+3 =)

@11 @ -11 ® -5 @ 5 ® 8

B \
A9 4
D29 %2423 =20443 95 - g =4
= W 4
: (_1)n+2+n+3 _ (_1)2n+5 — b b=-1
L 2a-3b=8+3=11




20. X
56 + 56 + 56 + 56 + 56 26 + 26

A0 (2 L& s)eprSoltt)
m

@ 6 @9 (@)11 @ 16 ® 17

36 + 35 4+ 36 49445 +45 44 g
+3+ = () 2wl

B

GO e =T g =
56 + 56 1 56 4 56 4 56 — 56 x 5 = 57
46 4 49 1 49 4 45 — 45 x4 = 47
26 4 26 — 26 % 9 = 27
36 4 36 4 36 45 4 45 4 45 4 46
56+ 50 1 50 + 50 156 26420

-Zx5-()<(3)
T 57T T 927 \5 2

(&) - ()

n 6

“m 5
m+n=5+6=11




